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 BBYCT-135  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG) 

Term-End Examination 

June, 2022 

 

BBYCT-135 : PLANT ANATOMY AND EMBRYOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 8. Draw  

well-labelled diagram, wherever necessary.   

 

1. (a) State whether the following statements are 

true or false :  4
2

1
=2 

(i) Tapetum forms the outermost anther 

wall layer that surrounds the 

sporogenous tissue.  

(ii) A monosporic embryo sac is a 7-celled  

and 8-nucleate structure.  

(iii) In dicot roots, pith is large and  

well-developed.  

(iv) Solanum tuberosum is a common 

example of tuber.  
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(b) Fill in the blanks : 31=3 

(i) Cells associated with sieve tube 

elements are called _______ _______. 

(ii) The root hairs are the outgrowths of 

_______ cells.  

(iii) The pollination that takes place with 

the help of beetles is called ________.  

(c) Define the following terms :  51=5 

(i) Dermatogen  

(ii) Stolon  

(iii) Ectomycorrhiza  

(iv) Integumentary tapetum  

(v) Agamospermy  

2. (a) List the characteristics of meristematic 

tissues and describe their properties.   5 

(b) List the theories of apical organization of 

root and describe any one of them.  5 

3. (a) Describe runner and stolon with the help of 

labelled diagrams.  5 

(b) Discuss the role of epidermis or rhizodermis 

in protecting a plant.  5 

4. (a) Describe the structure of mature 

polygonum type of embryo sac with the help 

of a labelled diagram.  5 

(b) Describe cross-pollination and discuss its 

advantages and disadvantages.  5 
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5. (a) Describe the structure of the vascular 

cambium with the help of labelled diagram.  5 

(b) Define dendrochronology and describe the 

formation of annual rings with the help of 

labelled diagram.  5 

6. Define incompatibility. Discuss the factors which 

are involved in incompatibility. List any five 

methods which can overcome incompatibility 

and describe any one of them.  10 

7. Differentiate between any two of the  

following :  25=10 

(a) Dicot and Monocot root  

(b) Wet and Dry stigma  

(c) Composite and Ruminate endosperm  

8. Write short notes on any four of the  

following :  42
2

1
=10 

(a) Phloem structure  

(b) Importance of Apomixis  

(c) Cladophyll  

(d) Cystoliths 

(e) Morphological adaptations in xerophytic 

leaves  

(f) Parthenocarpy  

 



BBYCT-135 4 

 ~r.~r.dmB©.gr.Q>r.-135  

{dkmZ ñZmVH$ (gm_mÝ`)  
(~r.Eg.gr.Or.) 

gÌm§V narjm 

OyZ,  2022 

 

~r.~r.dmB©.gr.Q>r.-135 : nmXn emara Ed§ «̂yU{dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 8 _| go {H$Ýht Mma 
àíZm| Ho$ CÎma Xr{OE & Ohm± H$ht Amdí`H$ hmo, dhm± 
gwZm_m§{H$V AmaoI ~ZmBE &     

 

1. (H$) ~VmBE {H$ {ZåZ{b{IV H$WZ gË` h¢ AWdm  

AgË`  : 4
2

1
=2 

(i) Q>onrQ>_ namJH$moe H$s g~go ~mhar {^{Îm naV 
H$mo ~ZmVm h¡ Omo ~rOmUwOZ D$VH$ H$mo Koao 
ahVr h¡ & 

(ii) EH$ ~rOmUwH$ ^«yU-H$mof EH$ 7-H$mo{eH$s` 
Am¡a 8-Ho$ÝÐH$s g§aMZm h¡ & 

(iii) {Û~rOnÌr O‹S>m| _|, _‚mm ~‹S>r Ed§ gw{dH${gV 
hmoVr h¡ & 

(iv) gmoboZ_ Q>çy~amog_ H§$X H$m EH$ gm_mÝ` 
CXmhaU h¡ & 
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(I) [aº$ ñWmZm| H$s ny{V© H$s{OE : 31=3 

(i) MmbZr Z{bH$m VÎdm| go g§~Õ H$mo{eH$mE± 
________ ________ H$hbmVr h¢ &  

(ii) _yb amo_ _________ H$mo{eH$mAm| H$s 
~{hd©¥{Õ`m± hmoVr h¢ & 

(iii) ^¥§Jm| (^m¡am|) H$s ghm`Vm go hmoZo dmbm 
namJU _________ H$hbmVm h¡ & 

(J) {ZåZ{b{IV eãXm| H$mo n[a^m{fV H$s{OE :  51=5 

(i) ËdMmOZ/S>_}Q>moOoZ  
(ii) ^yñVmar  
(iii) ~møH$dH$_yb 

(iv) AÜ`mdaUr Q>onrQ>_  
(v) A{ZfoH$~rOVm  

2. (H$) {d^Á`moVH$s D$VH$m| H$s {deofVmAm| H$mo gyMr~Õ 
H$s{OE Am¡a BZHo$ JwUm| H$m dU©Z H$s{OE & 5 

(I) _yb erf© g§JR>Z Ho$ {gÕmÝVm| H$s gyMr ~ZmBE Am¡a 
CZ_| go {H$gr EH$ H$m dU©Z H$s{OE & 5 

3. (H$) Cn[a^yñVmar Am¡a ^yñVmar H$m Zm_m§{H$V AmaoIm| H$s 
ghm`Vm go dU©Z H$s{OE & 5 

(I) nmXn H$s gwajm H$aZo _| ~møËdMm AWdm _yb 
ËdMm (amBµOmoS>{_©g) H$s ^y{_H$m H$s MMm© H$s{OE & 5 

4. (H$) n[anŠd nm°brJmoZ_ àH$ma Ho$ ^«yU-H$mof H$s g§aMZm 
H$m dU©Z Zm_m§{H$V AmaoI H$s ghm`Vm go  
H$s{OE & 5 

(I) na-namJU H$m dU©Z H$s{OE Am¡a BgHo$ bm^m| Am¡a 
hm{Z`m| H$s MMm© H$s{OE & 5 
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5. (H$) g§dhZr H¡$på~`_ H$s g§aMZm H$m dU©Z Zm_m§{H$V 
AmaoI H$s ghm`Vm go H$s{OE & 5 

(I) Ðþ_-H$mbmZwH«$_U H$mo n[a^m{fV H$s{OE Ed§ Zm_m§{H$V 
{MÌ H$s ghm`Vm go dm{f©H$ db`m| Ho$ ~ZZo H$m 
dU©Z H$s{OE & 5 

6. A{ZfoÀ`Vm H$mo n[a^m{fV H$s{OE & CZ H$maH$m| na MMm© 
H$s{OE Omo A{ZfoÀ`Vm _| ^mJrXmar hmoVo h¢ & {H$Ýht nm±M 
{d{Y`m| Ho$ Zm_ ~VmBE {OZgo A{ZfoÀ`Vm H$mo Xÿa {H$`m Om 
gH$Vm h¡ Ed§ CZ_| go {H$gr EH$ H$m dU©Z H$s{OE &  10 

7. {ZåZ{b{IV _| go {H$Ýht Xmo Ho$ ~rM AÝVa ñnîQ>  
H$s{OE :   25=10 

(H$) {Û~rOnÌr Am¡a EH$~rOnÌr O‹S> 

(I) AmÐ© Am¡a ewîH$ d{V©H$mJ«  

(J) g§`wº$ Am¡a M{~©Vm^ (ê$_rZoQ>) ^«yUnmof 

8. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m±  

{b{IE :   42
2

1
=10 

(H$) nmofdmh H$s g§aMZm  

(I) Ag§JOZZ H$m _hÎd  

(J) nUm©^ñV§^/Šb¡S>mo{\$b  

(K) {gñQ>mo{bW²g 

(L>) _ê$X²{^Xr n{Îm`m| _| AmH$m[aH$s` AZwHy$bZ 

(M) A{ZfoH$\$bZ 

 

 


